Whitman College

Econ 407

Exam 1

October 4, 2001

 

 

Write all answers in your blue book. Show all of your work.

 

 

 

 

 

 

1. In "An Inquiry into the Nature and Causes of the Wealth of Nations," Adam Smith describes a process known as seigniorage.

 

(a) (5pts) Define seigniorage.

 

(b) (10pts) Smith notes that seigniorage can produce a "universal revolution in the fortune of private persons." (class reading, p. 52) How exactly were peoples' fortunes affected by seigniorage? How did these effects depend on whether or not people anticipated the seigniorage?

 

 

 

 

2. Define each of the following:

(a) (6pts) Money

(b) (2pts) Commodity money

(c) (2pts) Representative money

(d) (2pts) Fiat money

 

 

 

 

3. Consider the history of money in the United States. In the year 1864, each of the following items circulated as money in the U.S. For each item, state whether it was a commodity, representative, or fiat money at that point in time.

 

(a) (2pts) gold coins

(b) (2pts) bank notes

(c) (2pts) bank deposits

(d) (2pts) greenbacks

 

 

 

 

4. (a) (15pts) Explain how to use the chain-weighted method to calculate the Gross Domestic Product (GDP) Deflator for 1995, assuming that 1992 is the base year.

 

(b) (5pts) Why does the Commerce Department use the chain-weight method for calculating real GDP, rather than simply using base-year prices?

 

 

5. State whether each of the following statements is true or false. In each case, explain your answer.

 

(a) (10pts) Under the Pure Expectations (PE) Theory of the Term Structure of Interest Rates, whenever the yield curve is upward-sloping, people expect interest rates to rise in the future.

 

(b) (10pts) Under the Liquidity Premium (LP) Theory of the Term Structure of Interest Rates, whenever the yield curve is upward-sloping, people expect interest rates to rise in the future.

 

 

 

 

6. . Suppose that the Liquidity Premium assumptions hold and that the liquidity premia are given in the table below. Use the yield curve below to answer the following questions.

 

(a) (10pts) Forecast the annual nominal interest rate on a three-year Treasury note offered for sale two years from now.

 

(b) (15pts) If everyone believes that the expected annual inflation rate will be 2.8% for each of the next three years, then what is the expected annual real interest rate on a one year T-bill offered for sale one year from now?

 

	Term to maturity
	Liquidity premium (in percent per year)

	1 month
	0%

	1 year
	0.02%

	2 years
	0.05%

	3 years
	0.10%

	4 years
	0.20%

	5 years
	0.25%
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